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@ :
(i) 5 &7 e F FW JT |
Gi) T g9 & % guT £ |
Note :
(i) Attempt any ten questions.

(it)  All questions carry equal marks.

1. frefafed & S 6 s@s & o g1 T 8, avi SN
() AR I fGaeH e — it
(i) g o Aeaelin — oAt o, 3 W € @ Rited
(iii) —fFrEEE — & W AU F AW
Describe the following as asked against each :
@) Resolution power of a microscope — Definition

(ii) Insulin and Adrenaline — Chemical nature, whether proteins or
steroids.

(iii) Nucleosome — The names of two constituent parts

2. 9% fm W @ e SR fE & T o Sfv fad T §

() T T FE B — I0f S T ey SikE ? 99 e T 3w 9
F G TS 3R Y & 39 99 ff IR e e T T S &
g gar & |
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(i) @ THIHET T (3) I (4) F A I A @ WO AW AR ? d
yHR ¥ 7 ff 99 § | 9% fowa w0 @, sanw |

(i) 3M@ # fIu MU fFe FHifRa G o 90T H AT FIRE TG GRY I
¥ oo AW fou 9§ SR @' ff fafEy 5 3 sem-stem AW
g2

Given below is a highly simplified diagrammatic sketch of an

incomplete cell :

(i) Is it an animal cell or a plant cell ? Give the label number and
the name of the part shown that supports your answer. _

(ii) What is the one common name given to the two parts labelled (3)
and (4) ? Yet they are different in some way. What is that
difference ?

(iii) Which numbered part in the diagram has different names in an
animal cell and a plant cell and what are those respective

names ?

3. UM HR H Y F I9E ¥ gEfyg A U 1 w© F, 9@ § e g & 3
y&i & 9 fafae o S fwar & favg § o d8v § geemwT - 3
) 1:22:1
(i) 3:1
Name and differentiate between the following two types of
monohybrid ratios pertaining to the plant height in garden ﬁea in
F, generation :
(1) 12251
() 3:1
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(a)

(b)

(a)

(b)

o R G9eE & 39 Ewy §1 AW fAfew S @Ade § 9Ee S
? 3R 39 ey w1 ff A9 fafegy S QBT F a @ o ? |

it FE F TG TS F qEd WA A Al e H TE W
AWifEd NG FARY, JE G g fF I9H FA A 4 HEEH T |

Name the stage that precedes anaphase and the stage that comes
just next to anaphase in mitotic cell division.

Draw a simple labelled diagram of the stage preceding mitotic
anaphase of an animal cell, presuming that it contains a total of
4 chromosomes.

Fraferfias & fvg & ST S & om qET T 2, S AT

(1)

(i1)

(111)

IfEdd (FRYH) — uRwm, qdn fag =RvH TH HEEH BRIE & 99
@ AR

TRA fagm — WRYE & ¥ER

UHE =l & U1 — FUNa & YER 997 e g1Y 9 (SRmEdi) g9 &
e (22) ¥ guat fmar

Answer the following as asked against each :

@)

(ii)
(1i1)

Mutation — Definition, and the major difference between point
mutation and chromosome mutation

Down syndrome — The kind of mutation

Human skin colour — Type of inheritance and how it is different
from the trait of right-handedness

H few ¢ vl W S TR ¥ AW g1 T 8, e

@)
(i1)
(ii1)

T 98 O — T9EH& g¥ § AB ¥ fim
HERE el — TS EvESa
TR — a4 & fafy

State what has been asked against each :

1)
(ii)

(iii)

Blood group O — How it is different from AB chemically
Genetic counselling — The need for it

Protoplasts — The method of production
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Frefofad & favg # aga 94w ¥ ffaw -

(1)
(i1)

(iii)

State
1)
(i1)
(iii)

@)

(i1)

@)
(i1)

- Ugsh & UL TYT AEE & IS H & & W

g US a9 TN ve ¥ faeed (SS) F SIS &Y

uHeE (R & aed Y (ffsd dW) @ S A 9§ 9T S A
HIHE F A TS IHH FF

the following very briefly :

Any two differences between frog’s egg and human egg

The respective types of cleavage in human egg and hen’s egg

Name and the function of the cell organelle present in the middle
piece of human sperm

T aen fepftra wedl § fave FiNT

IEERT § Uit UHiaRuT e arel ©F STeRgRl & Wiy Y 39 V=g & (59
THR ST ? 9uER |

Differentiate between the terms haploid and diploid.

How do you relate the above two terms with the two stages
showing alternation of generations in Dryopteris ? Explain.

frfefaa & famg & a1 f6 7@% & oM @1 T 8, Ui ST

@)
(i1)

(i1i)

TE — WS a9 =T fafy
IEHEE — I T W
P-FH — GFE faf

Describe the following as asked against each :

(@)
(i1)

(111)

(a)

(b)

Measles — The pathogen and the mode of transmission
Typhoid — Two major symptoms

Tapeworm — Manner of infection
T o 9ot & fou s T M A T “Iuia” § @ S
3?2 Wad, W e S gEd Avit @ sEe off AW FaRy |

e g0 w1 S @ f e a9 R @ O % A fafaw ek 9
&, Y% & WoAF & it & |t 9m fAfEe |
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11.

12.

(a)

(b)

What is meant by the term “acquired” as used for one of the
categories of diseases ? Also name the other category.

Give two examples of diseases caused by animal bites and also
mention the category of the pathogen of each.

T ¥ gEfyg feafafaa & favg § fafae -

@)

(ii)

g a9 ¥ 9% AeH
el & il q91 399 &g di"l F 919

Mention the following pertaining to forests :

1)

(i1)

@)

(i1)

1)
(i)

Contribution in bringing rain

Any two medicines and their source plants

Tarlifcs 58 &8d & 2 UoHs (AR & ¥fd eEiice ffg yaR
forar =a €, faf@y |

gy @it T Yarifes s o, AW fafaw ok sww @ sha
FART |
What is an antibiotic ? How do antibiotics act against bacteria ?

Name the first discovered antibiotic, as well as its source

organism.



